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Choose the correct answer of the following questions:

1)

The critical numbers of the function f(x) = x*—3x*+2 are:

(A) x=-1Lx=4 (B) x=-2,x=-3 | (C) x=0,x=2

(D) x=1,x=3

)

The function f(x)=x>—3x*+2 is increasing on:

(A) (=0,0),(2,%) | (B) (0.2) ©) (L)

(D) (L2),(2,)

(3)

The function f(x)=x*—3x*+2 is decreasing on:

(A) (—0,0),(2,0) | (B) (0,2) ©) (L)

(D) (12),(2,)

(4) | The function f(x)=x>-3x*+2 has a local maximum value at

(A) x=3 B) x=-1 (C) x=2 (D) x =0
(5) | The function f(x)=x’-3x*+2 has a local minimum value at

(A) x=3 (B) x =-1 (C) x=2 (D) x =0
(6) | The graph of the function f(x)=x>—3x*+2 is concave upward on:

(A) (=o0,-1) (B) (—,1) (C) (L) (D) (L)
(7) | The graph of the function f(x) =x*—3x?+2 is concave downward on:

(A) (=0,-1) (B) (—,1) (C) (L) (D) (L)
(8) | The graph of the function f(x)=x*—3x*+2 has an inflection point at:

(A) (1,0) (B) (-1-2) (C€) L5) (D) (2,-2)
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®) An equation for tangent line to f (x) :x2_+X1 at the point (0,0) is:

(A) y=-2x (B) y=-2x+1 (C) y=2x-1 (D) y=2x
(10) [if f(x)=cscx then f"(x)=

(A) cscx(csc? x+cot?x) | (B) csc?x+cot?x | (C) escx(ese? x—cot?x) | (D) cscx
Q1) | If yz))((TJr; , then y'=

A _(x+12)2 (B) (fo)2 ©) _(x+32)2 ) (x+12)2
(12) | If y=xe", then y'=

(A) e™* (B) (@+xsinx)e” [ (C) (L—xsinx)e“*| (D) 1—xsinx
(13) [ If x*+y*=3xy+7, then y'=

2 -2 2 2

(14) | If y =In(tan3x), then y'=

vy Joer Jom Jonr
15) | If f(x)=B)""*, then f'(x)=

(A) —(In5)(5)"*"* sec® x

(B) (5)™*sec’x |(C) (In5)(5)™ sec®*x |(D) (In5)(5)™"

(16) | If y=log,(x*—3), then y'=
X 1 2X 2X
AN B D
® In7 ®) (x*=3)In7 ©) X -3 ) (x*=3)In7
(A7) | If y =e*secx, then y'=
(A) e* secx (tanx +1) |(B) e” secx (tanx —1) | (C) e* secx (D) e* secx tanx
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(18) | If y=+/3x*+6x, then y'=
6(x+1) X+6 3(x+1) X+1
(A) (B) ©) (D) ———
V3x2+6 V3x2 +6 \V3x2+6 2432 +6
(19) | If y=tan*(x}), then y'=
3x2 3x° 3x° 1
A B C) —— (D)
) 1+x3 ®) 1+ x° © (1+x)° 1+x°
(20) | The vertical asymptote of the graph of the function y= XL; is
X+
(A) x=2 |B) x=-2 () y=1 |D) y=2
(21) | The horizontal asymptote of the graph of the function y= X—+2 is
X+
(A) x=2 [B) x=-2 () y=1 [(D) y=2
@2 | 1im3n¢ _
0—-0 260
(A) 1 (B) 2 ©) % (D) Does not exist
2
@) | 1imX =% _
x—>2 X+ 2
(A) 0 | (B) 4 [(©) 1 | (D) Does not exist
@4 | 1imE3X 1
x—0 X
(A) True | (B) False
@5) | limYX*+2 =3 _
x—0 X
(A) 0 (B) % ©) % (D) Does not exist
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(26) | If e =9, then x=

A) X:9—;n5 ®) X:3—E—in9 ©) X:5+In9 (D) X:5—In9

(27) | If In(x+6)=2, then x=

(A) x=e’-6 (B) x=e-6 |(C) x=e’+6 (D) x=6-—¢?

(28) | Let f(x)=sin5x and g(x)=x*+3, then (gof )(x)=

(A) sin®5x+3 (B) sin5(x*+3) | (C) sin(x*+3) | (D) sin®5x+3
(29) If f iscontinuous at a, then is f differentiable at a.
(A) True | (B) False
(30) If the graph of f(x)=e" is stretched vertically by a factor of 2, the equation for the
new graph is
(A) f(x)=2e" (B) f(x)=e* (C) f(x)=¢" (D) f(x)=2e*

(31) | If the graph of y=cosx is shifted up 5 units and left 7 units, the equation for the new graph is

(A)y=cos(x+7)-5| (B) y=cos(x+7)+5 | (C) y=cos(x—7)+5| (D) y=cos(x+5)+7

(32) | The function y=x?+/x—2 is classified as

(A) Polynomial | (B) Exponential | (C) Algebraic | (D) Power

(33) | The function f(x)=2-x° is

(A) Even | B) 0odd [ (C) Neither evennorodd | (D) Even and odd

(A)- Page ¢ of 5




(34) | The solution of the inequality [x—3/<4 is
(A) (_1’ 7) (B) (—OO,—]_) o (7’00) (C) (_OO’ _l] u[?,oo) (D) [_17 7]
(35) | The equation of the line passes through (2,1) and (1,6) is
(A) 5Xx+y=11 |[@B) Sx—y=11|(C) x+5y=11 |(D) —X+y=5
. : S5r
(36) If a circle has radius 10 cm, the length of the arc subtended by a central angle of ? rad
251 251 S0z T
(A) 3 (B) e (©) 3 (D) 3
(37) | log,16—1log,8+log, 4 =
(A) 1 (B) 2 € 3 (D) 4
(38) | The inverse function of  f(x)=3x-2+3 is
(A) fH(x)=(x-2)°>+3 (B) fH(x)=(x—3)°+2
C) fH(x)=(x+3)*-2 (D) f*(x)=(x-3)°
(39) | The rang of the function y=3" is
(A) [0,0) (B) (—0,) (C) (0,) (D) [3,0)
I
(40) [ The function f(x) = 2n A is continuous on
X +1
(A) (0,0) (B) R—{1} C) R—{-T} (D) (0,1) (1, 0)
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